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INSTRUCTIONS 

 

1. Immediately after the commencement of the examination, you should check that this test booklet does not have any 

unprinted or torned or missing pages or items, etc. If so, request for its replacement. 

2. You have to enter your Examination Number on the Test Booklet in the Box 

        provided alongside. DO NOT write / mark anything else on the Test Booklet. 

3. This Test Booklet contains two  parts as shown below. 

 No. of 

questions 

Marks Nature of 

questions 

Negative Marks 

Part – I 50 100 Objective One third for each wrong answer 

Part – II 40 100 Objective One third for each wrong answer Except for Q. Nos. 85 to 90. 

Each item is printed both in English and Marathi. Each item comprises four responses (answers). You will select the 

response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response, 

mark the response which you consider the best. In any case, choose ONLY ONE response for each item. 

4. You have to attempt all questions from Part - I and Part-II [Q. Nos. 1 to 90] from 11 am to 1 pm only. You have to 

mark all your responses for this objective parts ONLY on the separate Answer Sheet provided.  

5. Under any circumstances attempting the questions cannot be extended after 1 pm. 

6. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to fill in 

some particulars in the Answer Sheet. This information is provided in your Admit Card. 

7. After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you 

should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test Booklet. 

You will not be allowed to leave the examination hall before 12 noon. 

8. Sheets for rough work are appended in the Test Booklet at the end. 

9. Penalty for wrong answers : 

         THERE  WILL  BE  PENALTY  FOR  WRONG  ANSWERS  MARKED  BY  A  CANDIDATE  in Part I and Part II EXCEPT 

FOR QUESTIONS FROM 85 TO 90, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER. 

i) There are four alternatives for the answer to every question. For each question for which a wrong answer has been 

given by the candidate, one-third of the marks assigned to that question will be deducted as penalty. 

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers 

happens to be correct and there will be same penalty as above to that question. 

iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question. 

10.   Please note that Part-I of this paper will be evaluated only if a candidate secures a minimum 33 marks in  

        Part-II and final selection list will be prepared on the basis of marks secured in Part-I only. 

11.   Final result of this examination will be declared on or after 28.12.2018 on the website www.yashada.org/acec   
 

DO  NOT  OPEN  THIS  TEST  BOOKLET  UNTIL  YOU  ARE  ASKED  TO  DO  SO 

darb gyMZm§Mo _amR>r ^mfm§Va `m àíZg§MmÀ`m eodQ>À`m nmZmda N>mnbo Amho. 
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PART – I / ^mJ - 1 

 

Question no. 1 : Which criteria is chosen by the 14
th

 

Finance Commission for inter-state distribution of proceeds 

from central taxes ? 

 1) Socio-Economic Backwardness 

 2) Fiscal Capacity  

   3) Forest Cover 

   4) Fiscal discipline   

àíZ H«$. 1 : 14 ì¶m {dÎm Am¶moJmZo H|$Ð gaH$maÀ¶m H$a ‘hgwbmMo 
amÁ¶mamÁ¶m‘Ü¶o dmQ>n H$aÊ¶mgmR>r H$moUË¶m {ZH$fmMr {ZdS> Ho$br ?  

 1) gm‘m{OH$-Am{W©H$ ‘mJmgnUm    

 2) amOH$mofr¶ j‘Vm 

 3) dZì¶má joÌ        

 4) amOH$mofr¶ {eñV 

Question no. 2 : Who amongst the following was awarded 

a Nobel Prize for isolation of a virus in pure crystalline 

form for the first time ? 

 1) W.M. Stanley  

 2) Hargobind Khorana 

 3) D. Iwanowski    

 4) Watson and Crick 

àíZ H«$. 2 : Imbrbn¡H$s H$moUmbm ewÕ ñ’${Q>H$ê$nmV {dfmUy 
n{hë¶m§Xm doJio H$aÊ¶mgmR>r Zmo~ob nwañH$ma XoÊ¶mV Ambm ?  
 1) S>ãë¶w.E‘. ñQ°>Ýbo  
 2) haJmoqdX ImoamZm 
 3) S>r. BdmZmodñH$s  
 4) d°Q>gZ Am{U {H«$H$ 

Question no. 3 : The Vedic Aryans first settled in the 

region of ........ 

 1) Central India 2) Gangetic Doab 

 3) Saptasindhu   4) Kashmir and Punjab  

àíZ H«$. 3 : d¡{XH$ Am¶© gd©àW‘ .......... ¶m ^mJmV ñWm{¶H$ Pmbo. 
 1) ‘Ü¶ ^maV  2) J§JoÀ¶m Imoè¶mV   
 3) gßVqgYy  4) H$mí‘ra Am{U n§Om~ 

Question no. 4 : Government announces .......... to mark 

Mahatma Gadhi’s 150 birth anniversary. 

 1) open defecation free state 

 2) amnesty for prisoners 

 3) alcohol free state 

  4) none of the above  

àíZ H«$. 4 : gaH$maV’}$ ‘hmË‘m Jm§Yr ¶m§À¶m 150 ì¶m O¶§Vr{Z{‘Îm 
.......... Omhra H$aÊ¶mV Ambr Amho.   
 1) hmJUXmar ‘w³V amÁ¶ ¶moOZm 
 2) H¡$Úm§gmR>r {deof ‘m’$s ¶moOZm 
 3) Xmé‘w³V amÁ¶ ¶moOZm 
 4) darbn¡H$s H$moUVmhr Zmhr 

Question no. 5 :  Density of surface material of the earth is 

..........  

àíZ H«$. 5 : ^yn¥ð>mdarb IS>H$mMr KZVm ......... Amho. 

 1) 2.8 2)  3.4 3)  5.5 4)  16 

Question no. 6 : Which of the following minerals are found 

in a natural way in Maharashtra ? 

A] Iron B] Tin  C] Coal  D] Bauxite 

 1) B and D  2) A and D 

 3) B and C  4) A and C 

àíZ H«$. 6 : Imbrbn¡H$s H$moUVr I{ZOo ‘hmamï´>mV Z¡g{J©H$ [aVrZo 
AmT>iVmV? 
A) bmoh  B) H${Wb  C) H$moigm D) ~m°³gmBQ> 
 1) B Am{U D  2) A Am{U D  

 3) B Am{U C  4) A Am{U C 

Question no. 7 : Which types of tax helps in reducing 

disparities of Income ? 

 1) Proportionate tax  

 2) Progressive tax 

   3) Regressive tax    

 4) All of these   

àíZ H«$. 7 : H$moUË¶m àH$maMm H$a CËnÞmVrb {df‘Vm H$‘r H$aVmo ? 

 1) à‘mUerb H$a  

 2) àJVerb H$a 

 3) à{VJm‘r H$a  

 4) darbn¡H$s gd© 

Question no. 8 : On which of the following countries the 

world’s largest onshore wind farms are located ? 

 1) Srilanka, India and China 

 2) India, U.K. and U.S.S.R. 

   3) India, China and USA 

   4) China, U.S.A. and Germany 

àíZ H«$. 8 : Imbrbn¡H$s H$moUË¶m XoemV OJmVrb gdm©V OmñV 
ndZM³¶m g‘wÐmH$mR>r àñWm{nV Ho$ë¶m AmhoV ?  
 1) lrb§H$m, ^maV Am{U MrZ 
 2) ^maV, ¶w.Ho$. Am{U ¶w.Eg.Eg.Ama. 
 3) ^maV, MrZ Am{U ¶w.¶g.E. 
 4) MrZ, ¶w.Eg.E. Am{U O‘©Zr 

Question no. 9 : According to the Strabo, the Tamil 

Kingdom to send emissaries to meet Augustin in Athens in 

20 B.C. was ......... 

 1) Pallava 2) Chola 3) Chera 4) Pandya  

àíZ H«$. 9 : ñQ́>°~moÀ¶m ‘Vo, B.g.ny. 20 ‘Ü¶o AWoÝg‘Yrb 
Am°JpñQ>Zbm ^oQ>Ê¶mg ........ ¶m Vm{‘i amÁ¶mZo XÿV nmR>{dbo. 
 1) n„d 2) Mm¡bm 3) N>oam 4) n§S>çm 

Question no. 10 : Match the pairs : 

Fundamental Rights Article Nos. 

a) Right of Equality 1. 19, 20, 21, 22 

b) Right of Freedom 2. 14, 15, 16, 17, 18 

c) Right against Exploitation 3. 25, 26, 27, 28 

d) Right to Freedom of Religion 4. 30, 31 

  5. 23, 24 

 1) a - 2 b - 1 c - 5  d - 3 

 2)  a - 5  b - 4  c - 3   d - 2  

 3) a - 1  b - 2  c - 3   d - 4 

    4)   a - 1  b - 3  c - 5   d - 2 
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àíZ H«$. 10 : ¶mo½¶ OmoS>çm bmdm. 

‘yb ŷV h³H$ H$b‘ H«$‘m§H$ 

A. g‘VoMm A{YH$ma 1. 19, 20, 21, 22 

~. ñdmV§Í¶mMm A{YH$ma 2. 14, 15, 16, 17, 18 

H$. emofUm{dê$ÕMm A{YH$ma 3. 25, 26, 27, 28 

S>. Ym{‘©H$ ñdmV§Í¶mMm A{YH$ma 4. 30, 31 

  5. 23, 24 

 1) A - 2 ~ - 1 H$ - 5  S> - 3 

 2)  A - 5  ~ - 4  H$ - 3   S >- 2  

 3) A - 1  ~ - 2  H$ - 3   S> - 4 

    4)   A - 1  ~ - 3  H$ - 5   S> - 2 

Question no. 11 : The planets revolves around the sun is 

discovered by .......... 

 1) Newton 2)  Galilio 3)  Kant 4)  Multon 

àíZ H«$. 11 : J«h gy¶m©^modVr {’$aVmV ¶mMm emoY ......... Zo bmdbm.  
 1) Ý¶yQ>Z 2) Jm°{b{bAmo 3) H$m§Q> 4) å¶yëQ>m°Z 
Question no. 12 : Which of the following organisation had 

signed a MOU with Uttar Pradesh Corporation for energy 

efficiency ? 

 1) Newyork Lignite Corporation   

 2) National Thermal Power Corporation Ltd. 

 3) Energy Efficiency Services Ltd. 

 4) Power Grid Corporation of India Ltd. 

àíZ H«$. 12 : Imbrbn¡H$s H$moUË¶m g§ñWoZo CÎma àXoe COm© {ZJ‘er 
COm© H$m¶©j‘VogmR>r gm‘§Oñ¶ H$amamda gøm Ho$ë¶m? 
 1) Ý¶y¶m°H©$ {b½ZmBQ> H$m°nm}aoeZ 
>    2) amï´>r¶ Am¡pîUH$ ep³V {ZJ‘ {b. 
 3) COm© H$m¶©j‘Vm godm {b. 
 4) nm°da {J«S> H$m°nm}aoeZ Am°’$ B§{S>¶m {b. 

Question no. 13 : Which organisation in India has been 

given the responsibility to monitor the progress of 

sustainable development goals ? 

 1) NITI Aayog  

 2) Central Statistical Office 

   3) Reserve Bank of India 

   4) National Sample Survey Office   

àíZ H«$. 13 : ^maVmV H$moUË¶m g§KQ>Zobm emídV {dH$mgmMr C{Ôï>o 
JmR>Ê¶mMr O~m~Xmar gmon{dbr Amho ? 

 1) {ZVr Am¶moJ 

 2) H|$Ðr¶ gm§p»¶H$s¶ H$m¶m©b¶  

 3) ^maVr¶ [aPd© ~±H$ 

 4) amï´>r¶ Z‘wZm gd}jU H$m¶m©b¶ 

Question no. 14 : The sources of sulphur dioxide may be 

..... 

1) burning of coal 

2) Volcanoes 

3) Solid waste disposal by municipality 

4) burning of diesel 

 1) Only 2  2) 1 and 2   

 3) 1, 2, and 4  4) 1, 2 and 3  

 

àíZ H«$. 14 : ....... ho gë’$a S>m¶ Am°³gmBS>Mo ómoV Agy eH$VmV. 
1) H$moiemMo ÁdbZ 
2) Ádmbm‘wIr 
3) ZJanm{bHo$Ûmao H$aÊ¶mV ¶oUmao KZ H$Mam {dëhodmQ> 
4) {S>PobMo ÁdbZ 

 1) ’$³V 2  2) 1 Am{U 2  
 3) 1, 2 Am{U 4 4) 1, 2 Am{U 3 

Question no. 15 : The king was freed from his people and 

they form their king’. On whose death did Badaun 

comment so ? 

 1) Alauddin Khilji  

 2) Muhammad bin Tughlaq   

 3) Firoz Shah Tughlaq 

  4) Balban   

àíZ H«$. 15 : ‘amOmbm Ë¶mÀ¶m bmoH$m§nmgyZ ‘moH$io Ho$bo Am{U Ë¶m§Zr 
Ë¶m§Mm amOm Ho$bm’ ~XmD$ZZo ho {dYmZ H$moUmÀ¶m ‘¥Ë¶yZ§Va Ho$bo ? 

 1) A„mC{ÔZ {IbOr  2) ‘whå‘X {~Z VwKbH$ 
 3) {’$amoP ehm VwKbH$ 4) ~b~Z 

Question no. 16 : Which of the following is incorrect 

statement with regard to 8
th

 schedule of India’s 

constitution? 

p) English is one of the 22 languages in the schedule 8. 

q) There is a demand for ‘pali’ to be included. 

r) Nepali was included in 1992. 

s) Initially there were 14 languages. 

àíZ H«$. 16 : ^maVmÀ¶m amÁ¶KQ>ZoVrb 8 ì¶m AZwgyMrÀ¶m g§X^m©V 
Imbrbn¡H$s H$moUVo {dYmZ MyH$ Amho ?  
p) 8 ì¶m AZwgyMrVrb 22 ^mfm§n¡H$s B§J«Or hr EH$ ^mfm Amho. 
q) ‘nmbr’ ^mfoMm AZwgyMrV g‘mdoe H$amdm Aer ‘mJUr Amho. 
r) 1992 gmbr ‘Zonmir’ ^mfoMm AZwgyMrV g‘mdoe H$aÊ¶mV Ambm. 
s)  gwadmVrbm AZwgyMrV 14 ^mfm g‘m{dï> Ho$ë¶m hmoË¶m. 

 1) s 2)  q 3) r  4) p   

Question no. 17 : Which of the following is an example of 

volcanic plateau ? 

 1) Colombia   2)  Appalachian  

 3)  Bolevian  4)  Colorado 

àíZ H«$. 17 : Imbrbn¡H$s Ádmbm‘wIrnmgyZ V¶ma Pmbobo nR>ma 
H$moUVo? 

 1) H$mob§{~¶m  2) A°nobmo{e¶Z  
 3) ~mobopìh¶m  4) H$mobmoamS>mo 
Question no. 18 : What was the theme of 2018 NITI 

Lecture Series on Artificial Intelligence (AI) ? 

 1) Leveraging AI for economic growth. 

 2) AI for national growth. 

 3) AI for All : Leveraging AI for inclusive growth. 

 4) AI for inclusive growth 

àíZ H«$. 18 : H¥${Ì‘ ~w{Õ‘Îmodarb 2018 {Z{V ì¶m»¶mZ ‘m{bHo$Mr 
g§H$ënZm H$m¶ hmoVr? 
 1) Am{W©H$ dmT>rgmR>r H¥${Ì‘ ~w{Õ‘ÎmoMm Omoa 
    2) amï´>r¶ dmT>rgmR>r H¥${Ì‘ ~w{Õ‘Îmm 
  3) gdmªgmR>r H¥${Ì‘ ~w{Õ‘Îmm … g‘mdoer dmT>rgmR>r H¥${Ì‘  
  ~w{Õ‘ÎmoMm Omoa 
 4) g‘mdoer dmT>rgmR>r H¥${Ì‘ ~w{Õ‘Îmm 

 



4 

Question no. 19 : ‘Digital India’ Programme was launched 

on ........ 

 1) June 28, 2015  2) July 1, 2015 

   3) July 7, 2015   4) July 10, 2015  

àíZ H«$. 19 : ‘{S>{OQ>b B§{S>¶m’  H$m¶©H«$‘ ......... amoOr gwê$ Pmbm.  

 1) OyZ 28, 2015 2) Owb¡ 1, 2015  
 3) Owb¡ 7, 2015 4) Owb¡ 10, 2015 

Question no. 20 : What happens when water is cooled from 

10C to 0C ? 

P) Its volume decreases uniformly, becoming minimum at 

0C. 

Q) Its density increases uniformly, attaining maximum at 

0C. 

R) Its volume decreases up to 4C and then increases till it 

attains 0C. 

S) Its density increases upto 4C and then decreases till it 

attains 0C. 

 1) P and Q 2) Q and S   3) P and S  4) R and S  

àíZ H«$. 20 : nmUr 10 go Vo 0 go n¶ªV W§S> Ho$ë¶mg H$m¶ KS>Vo ?  

P) Ë¶mMo AmH$ma‘mZ {Z¶{‘VnUo H$‘r hmoB©b, Am{U 0 go.  gdm©V 
H$‘r Agob. 

Q) Ë¶mMr KZVm {Z¶{‘VnUo dmT>ob Am{U 0 go. bm gdm©V OmñV 
Agob. 

R) Ë¶mMo AmH$ma‘mZ 4 go. n¶ªV H$‘r hmoB©b d Ë¶mZ§Va 0 go. 
hmoB©n¶ªV Vo dmT>ob. 

S) Ë¶mMr KZVm 4 go. n¶ªV dmT>ob d Ë¶mZ§Va 0 go. hmoB©n¶ªV Vr 
H$‘r hmoB©b. 

 1) P Am{U Q  2) Q Am{U S   

 3) P Am{U S  4) R Am{U S 

Question no. 21 : The trial and execution of Maharaja 

Nandakumar; one of the most infamous episodes of the 

early days of the East India company’s rule; took place 

during the time of ........  

 1) Lord Cornwallis 2) Lord Warren Hastings

 3) Lord Ripon  4)  Lord Hylton 

àíZ H«$. 21 : ‘hmamOm Z§XHw$‘madarb IQ>bm d ’$mer, hm BñQ> 
B§{S>¶m H$§nZrÀ¶m gwadmVrÀ¶m emgZH$mimVrb AË¶§V Hw$à{gÕ 
AÜ¶m¶m§n¡H$s EH$ ......... ¶m§À¶m H$mimV KS>bm. 
 1) bm°S>© H$m°Z©dm°{bg 2) bm°S>© dm°aZ hopñQ>¨½g 
 3) bm°S>© [anZ  4) bm°S>© {hëQ>Z 

Question no. 22 : Consider the following statements 

regarding a no confidence motion in the parliament. 

a) There is no mention of no confidence motion in the 

constitution. 

b) It is mandatory that a period of six months must elapse 

between two no confidence motions. 

c) At least 100 members must support a motion of no 

confidence before it is introduced in the house. 

d) A motion of no confidence can be introduced to 

Loksabha only. 

Select the correct alternative. 

 1) b and c are correct. 2) a, b, c, d are correct. 

 3) a, b, c are correct. 4)  a and d are correct. 

 

àíZ H«$. 22 : g§gXoVrb A{dídmg R>amdmÀ¶m àñVmdm~m~VÀ¶m 
Imbrb {dYmZm§Mm {dMma H$am. 
A) KQ>ZoV A{dídmg R>amdmÀ¶m àñVmdmMm C„oI Zmhr. 
~) XmoZ A{dídmg R>amdm§À¶m Xaå¶mZ ghm ‘{hÝ¶m§Mm H$mbmdYr AgUo 

~§YZH$maH$ Amho. 
H$) g^mJ¥hmV A{dídmg R>amd XmIb hmoÊ¶mnydu Ë¶mbm H$‘rV H$‘r 

100 gXñ¶m§Zr nmqR>~m {Xbm nm{hOo. 
S>) A{dídmg R>amdmMm àñVmd Ho$di bmoH$g^oVM XmIb H$aVm ¶oVmo. 
¶mo½¶ n¶m©¶ {ZdS>m. 
 1) ~ Am{U H$ ~amo~a 2) A, ~, H$, S> ~amo~a 
 3) A, ~, H$ ~amo~a 4) A Am{U S> ~amo~a 

Question no. 23 : Identify the correct group of station from 

temperature. (Temperature in degree C.) 

 March June September December 

A 25.2 24.2 23.1 20.2 

B 26.7 28.9 27.2 25.0 

C 27.1 29.9 28.9 19.7 

D 23.3 33.3 28.9 25.6 
 

 A B C D 

1) Mumbai Bangluru Delhi Kolkata 

2) Kolkata Delhi Mumbai Bangluru 

3) Bangluru Mumbai Kolkata Delhi 

4) Delhi Kolkata Bangluru Mumbai 

àíZ H«$. 23 : Vmn‘mZmdê$Z {R>H$mUm§Mm JQ> AmoiIm. (Vmn‘mZ A§e 
g|. ‘Ü¶o) 

 ‘mM© OyZ gßQ>|~a {S>g|~a 

A 25.2 24.2 23.1 20.2 

B 26.7 28.9 27.2 25.0 

C 27.1 29.9 28.9 19.7 

D 23.3 33.3 28.9 25.6 
 

 A B C D 

1) ‘w§~B© ~§Jbyê$ {X„r H$mobH$Vm 

2) H$mobH$Vm {X„r ‘w§~B© ~§Jbyê$ 

3) ~§Jbyê$ ‘w§~B© H$mobH$Vm {X„r 

4) {X„r H$mobH$Vm ~§Jbyê$ ‘w§~B© 

Question no. 24 : The great victoria desert is located in 

...... 

 1) South Africa 2) Australia 

 3) Canada  4) North America 

àíZ H«$. 24 : ‘hmZ pìh³Q>mo[a¶m dmid§Q> .............. ‘Ü¶o pñWV Amho.  
 1) X{jU A{’«$H$m 2) Am°ñQ´>o{b¶m 
 3) H°$ZS>m  4) CÎma A‘o[aH$m 

Question no. 25 : ‘Disposable Income’ does not include .... 

 1) business transfer payments 

 2) social security benefits 

   3) corporate dividends 

   4) personal income taxes   
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àíZ H«$. 25 : ‘ì¶¶e³¶ CËnÞmV’ ...... Mm g‘mdoe hmoV Zmhr. 

 1) ì¶mdgm{¶H$ hñVm§V[aV aH$‘m 

 2) gm‘m{OH$ gwa{jVVm bm^ 

 3) H§$nZr bm^m§e 

 4) d¡¶p³VH$ CËnÞ H$a 

Question no. 26 : ......... is not a unit of power. 

 1) Joule / second 2)  watt 

 3) Nm/s    4)  kg m
2
/s

2 

àíZ H«$. 26 : ........ ho e³VrMo EH$H$ Zmhr. 
 1) Á¶wb/goH§$X 2) dm°Q> 

 3) EZ E‘ / go 4) {H$J«°. {‘«2 / go2 

Question no. 27 : Which amongst the following Mughal 

Emperors had the longest reign ?  

 1) Muhammad Shah  

 2) Bahadur Shah 

   3) Farrukhsiyas    

 4)  Jalandar Shah 

àíZ H«$. 27 : Imbrbn¡H$s H$moUË¶m ‘moJb g‘«mQ>mMr amOdQ> OmñVrV 
OmñV H$mi hmoVr ? 

 1) ‘whå‘X emh 2) ~hmXþa emh 
 3) ’$méI {e¶mg 4) Omb§Xa emh 

Question no. 28 : India borrowed the idea of Directive 

Principles of State Policy from the constitution of ....... 

 1) South Africa 

 2) The Weimar Republic 

 3) Republic of Ireland (Erstwhile : The Irish Free 

     State)  

 4) All of the above 

àíZ H«$. 28 : ^maVmZo amÁ¶mÀ¶m YmoaUmÀ¶m ‘mJ©Xe©H$ VËdm§Mr H$ënZm 
........ ¶m XoemÀ¶m KQ>ZoVyZ KoVbr. 
 1) X{jU A{’«$H$m  
 2) dm¶‘ma àOmgÎmmH$ 
 3) Am¶bªS> àOmgÎmmH$ (nyduMo … X Am¶[ae ’«$s ñQ>oQ>)  
 4) darb gd© 

Question no. 29 : Drainage pattern of Nigeria is ......... 

 1) trellice  2) radial    

 3) inland   4) rectangular 

àíZ H«$. 29 : Zm¶oO[a¶mÀ¶m ObàUmbrMo ñdê$n ........ 
 1) OmirgÑí¶  2) H|$ÐË¶mJr 
 3) H§o${ÐV  4) Am¶VmH¥$Vr 
Question no. 30 : Who amongst the following, will be 

heading a parliamentary panel to examine the functioning 

of retirement fund of Employees Provident Fund 

Organisation (EPFO) ? 

 1) Kirit Somaiya 2) Poonam Mahajan 

 3) Vinod Tawade 4) Gopal Shetty 

àíZ H«$. 30 : Imbrbn¡H$s H$moU, H$‘©Mmar ^{dî¶ {Zdm©h {ZYr 
g§ñWoÀ¶m (B nr E’$ Amo) godm{Zd¥Îmr {ZYrÀ¶m H$m‘H$mOmMr VnmgUr 
H$aÊ¶mgmR>r Zo‘boë¶m g§gXr¶ ‘§S>imMo, à‘wI AgUma AmhoV? 
 1) {H$[aQ> gmo‘¡¶m 2) nyZ‘ ‘hmOZ 
 3) {dZmoX VmdS>o 4) Jmonmi eoÅ>r 

Question no. 31 : Which of the following schemes provide 

upto ` 2 Lacs accidental death insurance to the people in 

the age group of 18-70 years ? 

 1) Atal Pension Yojana  

 2) Pradhan Mantri Jeevan Jyoti Bima Yojana 

   3) Pradhan Mantri Suraksha Bima Yojana 

  4) Atal Jeevan Bima Yojana  

àíZ H«$. 31 : Imbrbn¡H$s H$moUË¶m ¶moOZoA§VJ©V 18 Vo 70 df} 
d¶moJQ>mVrb bmoH$m§Zm ê$. XmoZ bmI AnKmVr ‘¥Ë¶y {d‘m {Xbm OmVmo ? 

 1) AQ>b noÝeZ ¶moOZm 
 2) àYmZ‘§Ìr OrdZ Á¶moVr {d‘m ¶moOZm 
 3) àYmZ‘§Ìr gwajm [d‘m ¶moOZm 
 4) AQ>b OrdZ [d‘m ¶moOZm 

Question no. 32 : Which of the following statements are 

true? 

K) Thorium is a radioactive element that occurs abundantly 

in India and can be used in place of uranium in nuclear 

power plant. 

L) Caesium is radioactive alkali metal. 

M) Radiocarbon dating technique is used to estimate the 

age of fossils. 

N) The process by which energy is generated on the sun is 

nuclear fusion of helium. 

 1) K and M  2) K, M, and N   

 3) L and N   4) K, L and N  

àíZ H«$. 32 : Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ? 

K) Wmo[a¶‘ ho Ago {H$aUmoËgmar ‘ybÐì¶ Amho H$s Oo ^maVmV ‘w~bH$ 
à‘mUmV AmT>iVo Am{U AmpÊdH$ D$Om© g§¶ÌmV ¶wao{Z¶‘ EodOr 
dmnaVm ¶oD$ eH$Vo. 

L) {g{P¶‘ hm {H$aUmoËgmar AëH$br YmVy Amho. 
M) {H$aUmoËgJu H$m~©Z H$mb‘mnZ V§ÌkmZmMm Cn¶moJ Ordmí‘m§Mo d¶ 

R>a{dÊ¶mgmR>r hmoVmo. 
N) gy¶m©da {Z‘m©U hmoUmar D$Om© {Z{‘©VrMr à{H«$¶m hr ho{b¶‘Mo 

g§¶moJrH$aU Amho. 
 1) K Am{U M  2) K, M Am{U N 
 3) L Am{U N  4) K, L Am{U N  

Question no. 33 : What is the title of the Persian translation 

of the Mahabharata ? 

 1) Anwar - i - Suhaili  

 2)  Hasht - Bihisht 

 3) Ayaar-e-Danish    

 4)  Razmnama 

àíZ H«$. 33 : ‘hm^maVmÀ¶m n{e©¶Z ^mfm§VamMo erf©H$ H$m¶ Amho ? 

 1) AÝda-B-gwh¡br  2) híV-{~{híV 
 3) Aæ¶ma-E-Xm{Ze 4) aÂ‘Zm‘m 

Question no. 34 : Term of Legislative Assembly of which 

of the following states is going be over in 2019 ? 

 1) Andhra Pradesh 2)  Kerala 

 3) Arunachal Pradesh   4)  Odisha 

àíZ H«$. 34 : 2019 ‘Ü¶o nwT>rbn¡H$s H$moUË¶m amÁ¶mVrb 
{dYmZg^oMr ‘wXV g§nUma Amho ? 

 1) Am§Y« àXoe  2) Ho$ai  
 3) AéUmMb àXoe 4) Amo{S>em 
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Question no. 35 : Percentage of farmers in USA is 

drastically declining due to ...... 

 1) commercial grain farmers turn to plantation 

      agriculture. 

 2)  climatic change. 

 3)  use of machinary in agriculture. 

 4)  loss of agriculture products. 

àíZ H«$. 35 : A‘o[aHo$Vrb eoVr H$aUmè¶m§Mr Q>³Ho$dmar doJmZo H$‘r 
hmoV Amho H$maU ........ 
 1) ì¶mnmar AÞYmÝ¶ CËnmXH$ ‘ù¶mÀ¶m eoVrH$S>o dibo AmhoV.
 2) hdm‘mZ ~Xb 
 3) eoVr‘Ü¶o ¶§Ìm§Mm dmna 
 4) eoVr CËnmXZmVrb ZwH$gmZ 
Question no. 36 : Among the following who is the author 

of the book, “Brief Answers to the Big Questions”, which 

was released on 18
th

 October 2018 ? 

 1) Alice Huber  

 2) Stephen Hawking 

 3) Tonny Morrison  

 4) Courtney Walker 

àíZ H«$. 36 : Imbrbn¡H$s ‘{~«’$ AZgg© Qy> X {~J ³doíMÝg’ ¶m 18 
Am°³Q>mo~a 2018 àH$m{eV Pmboë¶m nwñVH$mMo boIH$ H$moU AmhoV. 
 1) AbmBg øw~a> 2) pñQ>’$Z hm°qH$J 
    3) Q>moZr ‘m°[agZ 4) H$moQ>©Zr dm°H$a 

Question no. 37 : National Income in India is estimated by 

....... 

 1) Planning Commission 

 2) Finance Commission 

   3) Indian Statistical Institute 

  4) Central Statistical Organisation  

àíZ H«$. 37 : ^maVmV amï´>r¶ CËnÞmMo ‘moO‘mn ..... 
 1) {Z¶moOZ Am¶moJ  
 2) {dÎm Am¶moJ 
 3) ^maVr¶ gm§p»¶H$s¶ g§ñWm 
 4) H|$Ðr¶ gm§p»¶H$s¶ g§KQ>Zm 

Question no. 38 : An animal cell differs from a plant cell in 

.... 

P) lacking a cell wall Q) lacking chlroplast 

R) having centrioles T) having haemoglobin 

 1) P and Q  2)  R and S  

 3)  P, Q and R 4)  Q and S 

àíZ H«$. 38 : àmUrnoer ¶m dZñnVr noetnojm Imbrbn¡H$s H$moUË¶m 
~m~rV doJù¶m AgVmV? 
P) noer[^{ÎmHo$Mr CUrd  Q) h[aVbdH$m§Mr CUrd 
R) VmaH$H|$Ðo AgVmV S) {h‘mo½bmo{~Z AgVo 
 1) P Am{U Q  2) R Am{U S   

 3) P, Q Am{U R 4) Q Am{U S 

Question no. 39 : In which session did the Indian National 

Congress pass the resolution for Poorna Swaraj ? 

 1) Madras 2) Lahore  3)  Culcutta 4)  Delhi 

àíZ H«$. 39 : ^maVr¶ amḯ>r¶ H$m±J«ogZo H$moUË¶m A{YdoeZmV nyU© 
ñdamÁ¶mMm àñVmd nm[aV Ho$bm ? 

 1) ‘Ðmg 2) bmhmoa 3) H$bH$Îmm 4) {X„r 

Question no. 40 :  Which of the following are included in 

the actual powers of the Prime Minister? 

a) He makes and dissolves the government. 

b) With his resignation the whole ministry resigns. 

c) He presides over the cabinet meetings. 

d) He is the chief spokesman of the government. 

Select the correct alternative.  

 1) a, b, c  2)  b, c, d  

 3)  a, b, c, d  4)  a, c, d 

àíZ H«$. 40 : Imbrbn¡H$s H$moUË¶m ~m~r n§VàYmZm§À¶m àË¶j 
A{YH$mamV g‘m{dï> Ho$boë¶m AmhoV ? 

A) Vo gaH$ma ApñVËdmV AmUy eH$VmV qH$dm ~aImñV H$ê$ eH$VmV. 
~) Ë¶m§À¶m amOrZmå¶m‘wio g§nyU© ‘§Ìr‘§S>i amOrZm‘m XoVo. 
H$) Vo ‘§Ìr‘§S>imÀ¶m ~¡R>H$sÀ¶m AÜ¶jñWmZr AgVmV. 
S>) Vo emgZmMo ‘w»¶ àd³Vo AgVmV. 
¶mo½¶ n¶m©¶ {ZdS>m. 
 1) A, ~ ,H$   2) ~, H$, S>  
 3) A, ~,H$, S>  4) A, H$, S> 

Question no. 41 : The document ‘Vision 2020’ for India is 

associated with ........ 

 1) poverty alleviation  

 2) industrial development  

 3) economic development 

   4) agriculture development  

àíZ H«$. 41 : ^maVmgmR>r ‘{ìhOZ 2020’ XñVEodO ......... g§~{YV 
Amho  
 1) Xm[aÐ¶ {Z‘y©bZ  
 2) Am¡Úmo{JH$ {dH$mg 
 3) Am{W©H$ {dH$mg  
 4) H¥$fr {dH$mg 
Question no. 42 :  Tourism is invisible export due to ....... 

 1)  tourists use their money which is not legal. 

 2)  export goods and materials are hidden. 

  3)  the occupation without the direct permission 

from the Government. 

  4)  instead of export of goods and materials a 

country gets foreign exchange. 

àíZ H«$. 42 : n¶©Q>Z hm AÑí¶ {Z¶m©V Amho H$maU ...... 
 1) n¶©Q>H$m§Zr dmnabobo n¡go Ad¡Üm ñdê$nmMo AgVmV. 
 2) {Z¶m©VrÀ¶m dñVy d ‘mb bn{dbobm AgVmo. 
 3) WoQ> emgZmH$Sy>Z nadmZm Zgbobm ì¶dgm¶ Amho. 
 4) àË¶j dñVy d ‘mb {Z¶m©V Z H$aVm Xoembm naH$s¶ MbZ 
{‘iVo. 

Question no. 43 : Match the pairs. 

 Nobel Laureate    Work in field of 

1) A. Einstein a)  radioactivity 

2) R. Feynman b) Superconductor 

3) M. Curie c) elementary particle 

4) J. Bardeen d) photoelectric effect 

 1) 1-c,  2-d,  3-a,  4-b  

 2) 1-d,  2-c,  3-a,  4-b 

 3) 1-a,  2-c,  3-b,  4-d  

 4) 1-b,  2-a,  3-d,  4-c   
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àíZ H«$. 43 : OmoS>çm Owidm. 

 Zmo~ob {d ŷ{fV  H$m¶©joÌ 

1) A. AmB©ZñQ>mBZ a)  {H$aUmoËgm[aVm 

2) [a. ’$mB©Z‘Z b) A{VdmhH$ 

3) ‘o. ³¶war c) ‘yb^yV H$U 

4) Om°. ~maS>rZ d) àH$me{dÚwV n[aUm‘ 

 1) 1-c,  2-d,  3-a,  4-b  

 2) 1-d,  2-c,  3-a,  4-b 

 3) 1-a,  2-c,  3-b,  4-d  

 4) 1-b,  2-a,  3-d,  4-c   

Question no. 44 : Which freedom fighter, was a communist 

political leader, who participated in the Quit India 

Movement, the Civil Disobedience and other movements. 

He was popularly known as ‘LOK NAYAK’ ? 

 1) Achyut Patwardhan 2) Yogendra Shukla 

  3) Jayaprakash Narayan 4)  Gulab Chand Gupta 

àíZ H«$. 44 : gmå¶dmXr amOH$s¶ ZoVm, Á¶mZo ^maV N>moS>mo, g{dZ¶ 
H$m¶Xo^§J Am{U BVa MidirV ^mJ KoVbm. Ë¶m§Zm bmoH$[à¶VoZo 
‘bmoH$Zm¶H$’ Ago åhUV AgV Agm ñdmV§Í¶g¡{ZH$ H$moU ? 

 1) AÀ¶wV nQ>dY©Z 2) ¶moJ§oÐ ew³bm 
 3) O¶àH$me Zmam¶U 4) Jwbm~M§X Jwám 

Question no. 45 : Who is the Author of the following 

Book? 

The Diary of the Nation’s Conscience Keeper : Not just an 

Accountant. 

 1) Raghuram Rajan 2) Vinod Rai 

   3) Ruchir Sharma  4)  None of the above 

àíZ H«$. 45 : Imbrb J«§WmMo boIH$ H$moU ? 

X S>m¶ar Am°’$ ZoeÝg H$m°ÝeÝg H$sna … Zm°Q> OñQ> A°Z AH$mC§>Q>§Q> 
 1) aKwam‘ amOZ 2) {dZmoX am¶ 
 3) ê${Ma e‘m©  4) darbn¡H$s H$moUrhr Zmhr 

Question no. 46 : Veluwemir is a .......... 

 1) religious place.  

 2) industrial place. 

 3) bridge connecting two continents.    

 4) tunnel and bridge.  

àíZ H«$. 46 : dobwdo‘ra ho ......... Amho. 
 1) Ym{‘©H$ {R>H$mU 2) Am¡Úmo{JH$ {R>H$mU  
 3) XmoZ I§S>m§Zm OmoS>Umam nyb 4) ~moJXm Am{U nyb 
Question no. 47 : The increasing percentage of carbon 

dioxide in the air is responsible for slow raising of the 

temperature of the atmosphere. This is because it absorbs 

......... 

 1) infrared part of the solar radiations 

 2) Ultraviolet part of solar radiations. 

 3) cosmic rays 

   4) all the solar radiations   

àíZ H«$. 47 : hdoVrb H$m~©ZS>m¶ Am°³gmB©S>Mr dmT>Vr Q>³Ho$dmar 
dmVmdaUmÀ¶m Vmn‘mZmÀ¶m ‘§X dmT>rgmR>r O~m~Xma Amho. ¶mMo H$maU 
Vmo ....... emofyZ KoVmo. 
1) gm¡a {H$aUm§Mm Ada³V ^mJ  2) gm¡a {H$aUmVrb A{VZrb ^mJ  
3) d¡{œH$ {H$aU              4) gd© gm¡a {H$aU 

 

Question no. 48 : “At the stroke of the midnight hour, 

when the world sleeps, India will awake to life and 

freedom,” who said this ?  

 1) Mahatma Gandhi 2) Dr. Rajendra Prasad 

  3) Lord Mountbatten   4)  Jawaharlal Nehru 

àíZ H«$. 48 : ‘‘Ü¶amÌrÀ¶m R>mo³¶mbm, Ooìhm gmao OJ Pmonbo AgVo, 
^maV ñdV§ÌnUo OmJm hmoB©b’ Ago H$moU åhUmbo ? 

 1) ‘hmË‘m Jm§Yr  2) S>m°. amO|Ð àgmX 
 3) bm°S>© ‘m¡§Q>~°Q>Z 4) Odmhabmb Zohê$ 

Question no. 49 : Which of the following is a correct 

statement ? 

A) President’s Rule was imposed in Jammu Kashmir for the 

first time in March 1977. 

B) Under the provision of section 356 of Jammu and 

Kashmir constitution Governor’s Rule is imposed. 

 1) A  

 2) B  

 3) both statements are incorrect  

 4) both statements are correct 

àíZ H«$. 49 : nwT>rbn¡H$s H$moUVo {dYmZ ~amo~a Amho ? 

A) Oå‘y Am{U H$mí‘ra amÁ¶mV ‘mM© 1977 ‘Ü¶o n{hë¶m§Xm amï´>nVr 
amOdQ> bmJy H$aÊ¶mV Ambr. 

~) Oå‘y Am{U H$mí‘raÀ¶m g§{dYmZmVrb H$b‘ 356 à‘mUo amÁ¶nmb 
amOdQ> bmJy H$aÊ¶mV ¶oVo. 

 1) A  
 2) ~  
 3) XmoÝhr {dYmZo MyH$ AmhoV. 
 4) XmoÝhr {dYmZo ~amo~a AmhoV. 

Question no. 50 : St. Georges channel divides .......... 

 1) Wales and Republic of Ireland  

 2) Northern Ireland and Republic of Ireland. 

 3) Scotland and Wales. 

  4) England and Scotland 

àíZ H«$. 50 : g|Q> Om°O©g² ImS>r‘wio .......... Mo {d^mOZ hmoVo. 
 1) doëg Am{U ñdV§Ì Am¶bªS> 
 2) CÎma Am¶bªS> Am{U ñdV§Ì Am¶bªS> 
 3) ñH$m°Q>b±S> Am{U doëg  
 4) B§½b§S> Am{U ñH$m°Q>b±S>  

 

PART – II / ^mJ - 2 

 

Question nos. 51 to 53 : Read the following passage and 

answer the questions that follow – 

 India’s IT and BPO industries are engines of job 

creation. But they still account for only 0.2 per cent of 

India’s employment. The country has no choice but to 

dramatically industrialize and inflate its domestic economy. 

Accrording to a forecast by the Boston Consulting Group, 

more than half of India’s unemployed within the next 

decade could be its educated youth. We cannot allow that to 

happen. 

 India is stuck in a quagmire of labour laws that hinder 

employment growth, particularly in the manufacturing 

sector. Inflexible labour laws inhibit enterpreneurship, so it 
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is quite ironic that laws ostensibly designed to protect 

labour actually discourage employment. 

 Employment creation needs an abundant supply of 

capital. Controls on foreign investment have resulted in 

China getting five times the foreign direct investment, or an 

advantage of $200 billion over the past five years. The 

growing interest in India by global private equity firms 

augurs well as they represent pools of patient and smart 

capital, but they too face many bureaucratic hurdles. 

51 : In which sector the labour laws inhibit employment 

growth ? 

 1) Service sector 

 2) Manufacturing sector 

 3) I.T. sector 

 4) none of the above 

52 : How can you say the employment in I.T. and B.P.O. 

industries is negligible ? 

 1)  India is stuck due to inflexible labour laws. 

 2)  The labour laws design to protect labour actually 

  discourage employment. 

 3)  China is getting 5 times the foreign Direct  

      Investment. 

 4)  The employment in I.T. and B.P.O. industries 

  accounts for only 0.2 percent. 

53 : What is the prophecy of Boston Consulting Group ? 

 1)  Within the next decade half of the India’s  

  unemployed will be her educated youth. 

 2)  Labour laws will hinder employment growth. 

 3)  India has no choice but to dramatically  

  industrialize and inflate domestic economy. 

 4)  employment creation needs an abundant supply 

  of capital. 

àíZ H«$. 51 Vo 53 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 ^maVmMo Am¶Q>r Am{U ~rnrAmo CÚmoJ, amoOJma {Z{‘©VrMo ómoV 
AmhoV, na§Vw Varhr ^maVmVrb amoOJmam§Mo ¶mV H$odi 0.2 Q>³Ho$ 
¶moJXmZ Amho. XoemH$S>o ZmQ>ç‘¶[aË¶m Am¡ÚmJrH$aU H$aUo Am{U 
Xoem§VJ©V AW©ì¶dñWobm ’w$J{dÊ¶mì¶{V[a³V Xþgam n¶m©¶ Zmhr. ~moñQ>Z 
H$ÝgpëQ>¨J J«wnÀ¶m A§XmOmZwgma, nwT>rb XeH$mÀ¶m AmV ^maVmMo 
AÜ¶m©hÿZ A{YH$ ~oamoOJma gw{e{jV Vê$U hmoVrb. Amåhr ho KSy> XoUma 
Zmhr. 
 ^maV H$m¶Úm§À¶m XbX{bV Amho. Oo amoOJma dmT>rg EH$ AS>Wim 
Amho, {deofV… CËnmXH$ joÌmV. H$R>moa H$m‘Jma H$m¶Xo CÚmoOH$Vobm 
à{V~§{YV H$aVmV. åhUyZM ho AË¶§V {dS>§~ZH$maH$ Amho H$s dada 
nmhVm H$m‘Jmam§Zm g§ajU XoÊ¶mgmR>r Ho$bobo H$m¶Xo àË¶jmV {Z¶w{³Vbm 
‘moS>Vm KmbVmV. 
 amoOJma {Z{‘©VrgmR>r ‘w~bH$ ^m§S>db nwadR>m Amdí¶H$ Amho. 

naXoer Jw§VdUwH$sda {Z¶§ÌUm‘wio MrZbm 5 nQ> WoQ> naXoer J§wVdUyH$ 

{‘iV Amho. {H$§dm Joë¶m nmM dfmªV $200 AãOm§Mm ’$m¶Xm {‘imbm 
Amho. OmJ{VH$ ImOJr H§$nÝ¶m§À¶m amo»¶m§Mo ^maVmV dmT>V OmUmao 
Am¡Ëgw³¶ ew^gyMH$ Amho H$maU Vo gmo{eH$ Am{U MwUMwUrV ^m§S>dbmMr 
gw{dYm Amho. nU Ë¶m§Zmhr AZoH$ ZmoH$aemhr AS>Wù¶m§Zm Vm|S> Úmdo 
bmJVo. 
51 : H$moUË¶m joÌmV H$m‘Jma H$m¶Xo amoOJma dmT>rg à{V~§Y H$aVmV? 
 1) godm joÌ  2) CËnmXZ joÌ 
 3) Am¶.Q>r. joÌ 4) darbn¡H$s H$moUVohr Zmhr. 

52 : AmnU Am¶.Q>r. Am{U ~r.nr.Amo CÚmoJm§‘Ü¶o amoOJma CnojUr¶ 
Amho. Ago H$go åhUy eH$Vm ?  
 1) H$R>moa H$m‘Jma H$m¶Úm§‘Ü¶o ^maV AS>H$bm Amho.  
 2) H$m‘JmamZ§m g§ajU XoÊ¶mgmR>r Ho$bobo H$m¶Xo àË¶jmV  
     {Z¶wp³Vg à{V~§Y H$aVmV. 
 3) MrZbm 5 nQ> WoQ> naH$s¶ Jw§VdUwH$ {‘iV Amho. 
 4) Am¶.Q>r. Am{U ~rnrAmo CÚmoJm§‘Ü¶o amoOJma Ho$di 0.2 Q>³Ho$ 
  Amho. 
53 : ~moñQ>Z H$ÝgpëQ>§J J«wn Mr ^{dî¶dmUr H$m¶ Amho ?  
 1) nwT>rb XeH$mÀ¶m AmV ^maVmMo AY} ~oamoOJma gw{e{jV 
  Vê$U AgVrb. 
 2)  H$m‘Jma H$m¶Xo amoOJma dmT>rg AS>Wim R>aVrb. 
 3) ZmQ>ç‘¶arË¶m Am¡Úmo{JH$sH$aU Am{U KaJwVr AW©ì¶dñWm 
  dmT>{dÊ¶m{edm¶ ^maVmH$S>o Xþgam n¶m©¶ Zmhr. 
 4) amoOJma {Z{‘©VrgmR>r àM§S> ^m§S>dbmMr JaO AgVo. 
 

Question nos. 54 to 56 : Read the following passage and 

answer the questions that follow – 

 Today, India looks like it is on course to join the league 

of developed nations. It is beginning to establish a 

reputation not just as the technology nerve centre and back 

office to the world, but also as its production centre. India’s 

secularism and democracy serve as a role model to other 

developing countries. There is great pride in an India that 

easily integrates with a global economy, yet maintains a 

unique cultural identity. 

 But what is breathtaking is India’s youth. For despite 

being an ancient civilization that traces itself to the very 

dawn of human habitation, India is among the youngest 

countries in the world. More than half the country is under 

25 years of age and more than a third is under 15 years of 

age. 

 Brought up in the shadow of the rise of India’s service 

industry boom, this group feels it can be at least as good if 

not better than anyone else in the world. This confidence 

has them demonstrating a great propensity to consume, 

throwing away ageing ideas of asceticism and thrift. Even 

those who do not have enough to consume today feel that 

they have the capability and opportunity to do so. 

54 : Pick out the word from the passage meaning 

‘extremely exciting.’ 

 1)  propensity 2) osceticism 

 3)  breathtaking 4) thrift 

55 : What is the approximate percentage of population 

between 15 to 25 years of age ? 

 1)  more than 50% 2) more than 33% 

 3)  can’t say  4) more than 17% 

56 : Which of the following is the youngest country in the 

world ? 

 1)  India 2) China 3) Russia 4) Japan 

 
àíZ H«$. 54 Vo 56 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 
 ^maV AmO {dH${gV amḯ>m§À¶m g§KmV gh^mJr Pmbobo {XgVo. 
^maVmZo V§ÌkmZ Vm§{ÌH$ H§o$Ð Am{U OmJ{VH$ ñVamda ~°H$ Am°{’$g 
åhUyZ Zìho Va CËnmXZ H§o$Ð åhUyZ XoIrb à{Vð>m ñWm{nV H$aÊ¶mg 
gwê$dmV Ho$br Amho. ^maVmMr Y‘©{ZanojVm Am{U bmoH$emhr BVa 
{dH$gZerb Xoem§gmR>r EH$ AmXe© Amho. ^maVmbm BVH$m A{^‘mZ Amho 
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H$s EH$ OmJ{VH$ AW©ì¶dñWm ghOVoZo g‘mH${bV hmoVo, Varhr 
^maVmZo EH$ A{ÛVr¶ gm§ñH¥${VH$ AmoiI H$m¶‘ R>odbr Amho. 
 na§Vw ^maVmMr ¶wdm {nT>r hr {MÎmWamaH$ {dñ‘¶H$mar Amho. EH$ 
àmMrZ gä¶Vm hr ‘mZdOmVrÀ¶m AJXr CX¶mn¶ªV ñdV…bm gy{MV 
H$aUmar AgyZhr ^maV hm OJmVrb gdm©V Vê$U Xoem§n¡H$s EH$ Amho. 
XoemMr AÜ¶m©hÿZ A{YH$ bmoH$g§»¶m 25 dfm©Imbrb d¶moJQ>mMr Amho 
Am{U V¥Vr¶m§emnojm OmñV bmoH$g§»¶m 15 dfm©Imbrb d¶moJQ>mMr Amho. 

 ^maVmÀ¶m godm CÚmoJmÀ¶m dmT>rÀ¶m VoOrÀ¶m gmdbrV dmT>boë¶m ¶m 
JQ>mbm Ago dmQ>Vo H$s OJmVrb BVa H$moUmhr nojm OmñV Zgë¶mg ho 
H$‘rVH$‘r ’$m¶Xoera Agy eH$Vo. ¶m AmË‘{dœmgmZo Ë¶m§Zm {‘Vì¶¶r d 
H$mQ>H$garÀ¶m OwZmQ> H$ënZm§Zm Xÿa H$ê$Z Cn^moJÊ¶mMr EH$ Z¡g{J©H$ 
àd¥Îmr Xe©{dbr Amho. AmO Á¶m§À¶mH$S>o nwaogo Cn^moJm¶bm Zmhr Aem 
bmoH$m§Zmhr Ago dmQ>Vo H$s Ë¶m§À¶mH$S>o Vr j‘Vm Am{U g§Yr Amho. 

54 : {Xboë¶m CVmè¶mVyZ ‘A{Ve¶ amo‘m§MH$’ Agm AW© Agbobm eãX 
{ZdS>m. 

 1) àd¥Îmr   2) {‘Vì¶¶r 

 3) {MÎmWamaH$ / {dñ‘¶H$mar 4) H$mQ>H$ga 

55 : 15 Vo 25 dfm©‘Yrb bmoH$g§»¶oMr A§XmOo Q>³Ho$dmar {H$Vr Amho? 

 1) 50% nojm OmñV 2) 33%nojm OmñV 

 3) H$mhr gm§JVm ¶oV Zmhr. 4) 17%nojm OmñV 

56 : nwT>rb n¡H$s H$moUVm Xoe OJmVrb gdm©V Vê$U Xoe Amho? 

 1) ^maV 2) MrZ 3) a{e¶m 4) OnmZ 
 

Question nos. 57 to 59 : Read the following passage and 

answer the questions that follow – 

 Money came into existence to answer a need of 

mankind, but this need did not arise until civilization had 

grown beyond its earliest stages. Primitive man lived by 

hunting, each hunting only for himself and his family or 

tribe. At such a stage when strangers were avoided or 

driven away, money and even trade were unnecessary. 

Later, when he had learnt to domesticate wild animals, man 

lived a nomadic and pastoral life, constantly wandering as 

he drove his flocks and herds to new pastures. As the road 

to wealth was then the possession of beasts, money in its 

modern form was still not necesssary, although the beasts 

themselves were a form of money. It would suit, what few 

craftsmen there were to be paid for their wares in cattle and 

farmers and herdsmen to pay in that way. 

 When human communities began to settle down and 

cultivate the land, instead of wandering over it with their 

flocks and herds, the division of labour increased and 

people specialized in crafts and trades. Most men 

specialized in growing or producing something of which 

only a very small portion was necessary for their own 

wants. So they had to get rid of their surplus. In exchange 

for it, they wanted something which would give them the 

power to choose what they wanted from the surpluses of 

other people. A few transactions might take place in 

straightforward exchange or barter, but only certain things 

could be treated in this way. It was unlikely for instance, 

that a shoe maker needing supplies of corn for his family 

from time-to-time would always find that the farmer would 

take shoes in exchange. It would be more convenient, if 

there were some other object that would always be useful to 

both the shoe maker and the farmer. 

 

57 : Which of the following alternatives is true according to 

the passage? 

 1)  Money came into existense in the earliest stages 

  of humanity. 

 2)  Money was important to deal with strangers. 

 3)  Division of labour increased when human  

  communities settled down. 

 4)  A farmer would always buy shoes if he had to sell 

  corn. 

58 : Which among the following is an antonym of  

‘surplus’? 

 1) dearth 2) excess 3) spare 4) necessity 

59 : Primitive man .......... 

 1) lived a nomadic and pastonal life. 

 2) wandeered in search of new pastures.  

 3) did not possess modern money. 

 4) all of the above 

 
àíZ H«$. 57 Vo 59 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm.  
 ‘mZdOmVrÀ¶m JaOm nyU© H$aÊ¶mgmR>r n¡gm ApñVËdmV Ambm, na§Vw 
g§ñH¥$Vr {VÀ¶m gwadmVrÀ¶m Q>ß¶mn¶ªV dmT>ë¶m{edm¶ hr JaO CX²^dbr 
ZìhVr. Am{X‘mZd {eH$ma H$ê$Z OJV hmoVm, àË¶oH$ {eH$ma hr Ë¶mÀ¶m 
ñdV…À¶m Am{U Hw$Qw>§~mÀ¶m qH$dm O‘mVrnwaVrM Ago. Aem doir Ooìhm§ 
AZmoiIr ì¶p³V¨Zm Q>mibo OmV hmoVo qH$dm Xÿa Ho$bo OmV hmoVo Voìhm 
n¡gm Am{U ì¶mnmaXoIrb AZmdí¶H$ hmoVm. Z§Va, Ooìhm Vmo dÝ¶ 
àmÊ¶m§Zm nmim¶bm {eH$bm, Voìhm ‘mZd gVV ^Q>H§$VrMo Am{U AZmJar 
OrdZ OJy bmJbm, Ë¶mÀ¶m ‘|T>çm§Zm Am{U JwamT>moa§mZm ZdrZ Hw$aUm§V 
Mmam¶bm ZoD$ bmJbm. åhUyZ g§nÎmrH$S>o OmUmam ‘mJ© OZmdam§À¶m 
H$ãOmÀ¶m ñdê$nmV Agë¶mZo n¡emMr, Ë¶mÀ¶m AmYw{ZH$ ñdê$nmV, 
JaO ZìhVr. Oar àmUr ñdV…M n¡emÀ¶m ñdê$nmV hmoVo. Oo H$mhr 
WmoS>o’$ma H$mamJra AgV Ë¶m§Zm Ë¶m§À¶m dñVy§H$aVm Jwao XoUo gmoB©Mo hmoVo, 
eoVH$ar Am{U JwamIr ¶m§Zmhr Ë¶mM àH$mao XoUo hmoV Ago. 
 Ooìhm ‘mZdr g‘wXm¶ pñWamd¶mbm gwê$dmV Pmbr Am{U 
O{‘Zrdê$Z ‘§oT>çm Am{U JwamT>moam§Zm KoD$Z ^Q>H$Ê¶mEodOr O‘rZ 
H$gÊ¶mg gwédmV Pmbr Voìhm l‘{d^mJUr dmT>br. bmoH$ H$bm Am{U 
ì¶mnmamV nma§JV hmoD$ bmJbo. ~hþVoH$ ‘mUgo H$mhrVar dmT>dy qH$dm 
CËnmXZ H$ê$ bmJbo H$s Á¶mn¡H$s ’$maM WmoS>o Ë¶m§À¶m OéargmR>r 
Amdí¶H$ hmoVo. Ë¶m§À¶mH$S>o Agboë¶m OmXm ‘mbmnmgyZ Ë¶m§Zm gwQ>H$m 
hdr hmoVr. Ë¶m ~Xë¶mV Ë¶m§Zm Ago H$mhrVar hdo hmoVo Oo BVa 
bmoH$m§À¶m Cd©[aV ^mJmVyZ {ZdS>Ê¶mMr ep³V XoB©b. H$mhr ì¶dhma 
gai {d{Z‘¶ qH$dm ZJmg ZJ hmoD$ eH$VmV na§Vw ’$³V WmoS>çm Jmoï>rM 
Aem àH$mao {d{Z‘¶ Ho$ë¶m OmD$ eH$VmV. Xadoir Vo Ae³¶ hmoVo 
CXmhaUmW© EImÚm Mm§^mambm doimodir Hw$Qw>§~mgmR>r ‘³¶mMr JaO 
^mJdÊ¶mgmR>r eoVH$è¶mZo ~Xë¶mV OmoS>o ¿¶mdoV Ago dmQ>o. ¶mEodOr 
Xþgar EImXr dñVy Aer Agbr H$s Or Mm§^ma Am{U eoVH$ar XmoKm§Zmhr 
Zoh‘rM Cn¶w³V hmoB©b Va Vo A{YH$ ’$m¶Xoera hmoB©b. 
57 : n[aÀN>oXmZwgma Imbrbn¡H$s H$moUVm n¶m©¶ gË¶ Amho?  
 1) ‘mZdVoÀ¶m gwadmVrÀ¶m AdñWo‘Ü¶o n¡gm ApñVËdmV Ambm.
 2) AZmoiIr bmoH$m§er ì¶dhma H$aVmZm n¡gm ‘hËdmMm hmoVm. 
 3) Ooìhm ‘mZdr g‘wXm¶ pñWamdbm Voìhm l‘ {d^mJUr dmT>br.
 4) eoVH$è¶mbm Oa ‘³¶mMr {dH«$r H$am¶Mr Agob Va Vmo Zoh‘r 
  OmoS>o IaoXr H$aob. 
58 : Imbrbn¡H$s H$moUVm eãX ‘A[V[a³V’ À¶m {dê$ÕmWu Amho?  
 1) H$‘VaVm 2) OmñV 3) A{Yeof 4) Amdí¶H$Vm 
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59 : Am{X‘ ‘Zwî¶ ........... 
 1) gVV ^Q>H§$VrMo Am{U AZmJar OrdZ OJV hmoVm. 
 2) ZdrZ Hw$aUm§À¶m emoYmV ^Q>H$V hmoVm. 
 3) AmYw{ZH$ n¡gm ~miJV ZìhVm. 
 4) darb gd© 
Question nos. 60 to 62 : Read the following passage and 

answer the questions that follow – 

 Doing housework, taking care of children and carrying 

out assorted jobs for husbands are work just as much as is 

performing paid employment in an office or factory. To 

ignore this is to do a disservice to women in the labour 

force. The reality of housework is that women’s work in the 

home averages 56 hours per week for the full time home 

maker and 26 hours per week for the employed 

wife/mother. Husbands and children barely increase their 

contribution to housework and child care when the 

wife/mother is in the labour force. As a result, the 

employed woman gives up most of her leisure to carry out 

the responsibilities of family life. 

 We realize that it may sound strange to hear women’s 

activities in the home, called work. Since women, who do 

housework and take care of children receive no salary or 

wages ; home-making is not considered ‘work’. Economists 

have finally helped us to recognise the importance of 

women’s work in the family by estimating the monetary 

value of home-making. These estimates range from 

$4,705(1968) through $8,200(1972) to over $13,000 per 

year in 1973 depending on whether the work of the home-

maker is considered equivalent to an unskilled, skilled or 

professional worker, respectively. For example, is child 

care comparable to baby-sitting at $0.75 per hour, to a 

nursery school aid at $ 3 per hour, or to the care of a child 

pshychologist at $ 30 per hour? 

 Some people have proposed that the solution to the 

problems of the employed housewife would be simply to 

pay women for being houswives. Hence, women with 

heavy family responsibilites would not have to enter the 

labour force in order to gain income for themselves and/or 

their families. This is not a solution for many reasons - 

wages provide income, but they do not remedy the isolating 

nature of the work itself nor the negative attitudes 

housewives themselves have towards housework (but not 

towards child care.)  

60 : Husbands and children barely contribute to housework. 

The correct alternative after adding a question tag is .. 

 1)  Husbands and children barely contribute to 

  housework, don’t they? 

 2)  Husbands and children barely contribute to 

  housework, do they?  

 3)  Husbands and children barely contribute to 

  housework, isn’t it? 

 4)  Husbands and children barely contribute to 

  housework, is it? 

61 : According to the passage, house wives would be happy 

if ........ 

 1)  Everybody contributed in their efforts of  

  housework. 

 2)  If their work was given equal importance like an 

  office or factory.  

 3)  If a positive attitude was maintained towards 

  housework. 

 4)  All of the above. 

62 : Which of the following words is closest to the meaning 

of ‘assorted’? 

 1)   diverse  2) ambiguous  

 3)  identical  4) obedient 

àíZ H«$. 60 Vo 62 : Imbrb n[aÀN>oX H$miOrnyd©H$ dmMyZ Ë¶m Imbr 
{Xboë¶m àíZm§Mr CÎmao Úm. 

KaH$m‘ H$aUo, ‘wbm§Mo g§JmonZ H$aUo Am{U Zdè¶m§H$aVm {d{dY H$m‘o 
H$aUo ho EImÚm H$m¶m©b¶mV qH$dm H$maImÝ¶mV nJmar ZmoH$ar 
H$aÊ¶mgmaIoM AgVo. ¶mH$S>o Xþb©j H$aUo åhUOo {ó¶m§À¶m 
H$ï>H$ard¥Îmrbm Anm¶H$maH$ Amho. KaH$m‘mMr dmñV{dH$Vm Aer Amho 
H$s nyU©doi KaH$m‘ H$aUmè¶m ‘{hboMo KamVrb H$m‘ gamgar 56 Vmg 
à{V AmR>dS>m AgVo Va nJmar H$m‘ H$aUmè¶m nËZr/AmB©Mr gamgar 
26 Vmg à{V AmR>dS>m AgVo. Zdao Am{U ‘wbo KaH$m‘ Am{U ‘wbm§Mo 
g§JmonZ ¶mV ³d{MVM Amnbo ¶moJXmZ dmT>dVmV, Ooìhm nËZr/AmB© 
l‘ep³VV ì¶ñV AgVmV. n[aUm‘r nJmaXma ‘{hbm H$m¡Qw>§{~H$ 
O~m~Xmar nma nmS>Ê¶mgmR>r Ë¶m§Mm ~è¶mM ’w$agVrMm doi gmoSy>Z XoVmV. 

 Amåhmbm ‘m{hV Amho H$s {ó¶m§À¶m KamVrb Ym‘Yw‘rbm H$m‘ 
åhUUo {d{MÌ dmQ>Vo. ‘{hbm, Oo KaH$m‘ H$aVmV Am{U ‘wbm§Mr H$miOr 
KoVmV, Ë¶m~Ôb Ë¶m§Zm ‘mo~Xbm AWdm doVZ H$mhrM {‘iV Zmhr åhUyZ 
KaH$m‘ ho ‘H$m¶©’ ‘mZbo OmV Zmhr. AW©VÁkm§Zr KaJwVr H$m‘mÀ¶m 
‘yë¶m§Mm A§XmO H$ê$Z Amåhmbm Hw$Qw>§~mVrb ‘{hbm§À¶m H$m‘mMo ‘hËd 
AmoiIÊ¶mg ‘XV Ho$br Amho. KaH$m‘m{df¶rMo ho A§XmO 4,705 
S>m°ba(1968) à{Vdf© nmgyZ 8,200 S>m°ba(1972) Vo 13,000 S>m°ba 
à{Vdf© n¶ªV Vo H$m‘ AZwH«$‘o AHw$eb, Hw$eb d ì¶mdgm{¶H$ H$m‘Jma 
g‘Vwë¶ ‘mZyZ V¶ma Ho$bo Amho. CXmhaUmW© ‘wbm§Mo g§JmonZ 0.75 S>m°ba 
à{VVmg, Zg©ar emim ‘XVZrg 3 S>m°ba à{VVmg qH$dm 
{eew‘Zmod¡km{ZH$ 30 S>m°ba à{VVmg KoUmè¶m§À¶m g‘Vwë¶ Amho H$m?  

 H$mhr bmoH$m§Zr Ago gwM{dbo Amho H$s nJmar KaH$m‘ H$aUmè¶m 
‘{hbm§À¶m g‘ñ¶m§Mo {ZamH$aU H$aUo åhUOo Ë¶m§Zm KaH$m‘ H$aÊ¶m~Ôb 
nJma XoUo. Ë¶m‘wio ‘moR>çm à‘mUmda H$m¡Q>§w{~H$ O~m~Xmè¶m AgUmè¶m 
‘{hbm§Zm ñdV…gmR>r Am{U/qH$dm Ë¶m§À¶m Hw$Qw>§~mgmR>r H$m‘Jma åhUyZ 
H$m‘ H$amdo bmJUma Zmhr. AZoH$ H$maUm§‘wio hm VmoS>Jm Zmhr. doVZ 
CËnÞ àXmZ H$aVo. na§Vw Vo Zm ñdV…À¶m H$m‘mÀ¶m {Zamù¶m JwUY‘m©Mo  
Zm KaH$m‘ H$aUmè¶m§Mr KaH$m‘mH$S>o ~KÊ¶mMr ZH$mamË‘H$ d¥ÎmrMo 
{ZamH$aU H$aVo. (nU ~mbg§JmonZmH$S>o Zmhr.) 

60 : Imbr {Xboë¶m§n¡H$s H$moUVm n¶m©¶ gË¶ Zmhr?   
 1) KaÀ¶m H$m‘H$mOmH$S>o J¥{hUtMm Ñ{ï>H$moZ ZH$mamË‘H$ AgVmo.
 2) Zdao Am{U ‘wbo KaH$m‘ Am{U ‘wbm§À¶m g§JmonZmV gh^mJ 
  KoVmV. 
 3) nJmaXma ‘{hbm Ë¶m§À¶m {Z¶mo{OV ‘moH$im doi H$m¡Qw>§{~H$ 
  O~m~Xmè¶m§gmR>r IM© H$aVmV. 
 4) AW©VÁkm§Zr KaH$m‘ H$aUmè¶m§À¶m l‘mMo Am{W©H$ ‘yë¶m§Mm 
  A§XmO KoÊ¶mV ‘XV Ho$br Amho. 
61 : n[aÀN>oXmZwgma KaH$m‘ H$aUmè¶m ‘{hbm .......... Pmë¶mg AmZ§Xr 
hmoVrb.  
 1) àË¶oH$mZo Ë¶m§À¶m KaH$m‘mV gh^mJ KoVë¶mg 
 2) Oa Ë¶m§À¶m H$m‘mbm H$m¶m©b¶mV qH$dm H$maImÝ¶mV Ho$boë¶m 
  H$m‘mBVHo$M ‘hËd {Xbo 
 3) KaH$m‘mH$S>o Oa gH$mamË‘H$ Ñ{ï>H$moZmVyZ nm{hbo Va  
 4) darb gd© 
62: Imbrbn¡H$s H$moUVm eãX ‘{d{dY’ ¶m eãXmÀ¶m AWm©er gdm©V 
OdiMm Amho?  
 1) g§{‘l 2) g§{X½Y 3) g‘mZ 4) AmkmYmaH$ 
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Question no. 63 : In the series AABABCABCDABCDE 

..... which letter occupies the 100
th

 position ? 

àíZ H«$. 63 : AABABCABCDABCDE ..... ¶m ‘m{bHo$V 100 

ì¶m ñWmZmda H$moUVo Aja ¶oB©b ? 

 1) J 2) I 3) H 4) K 

Question No. 64 : How many rectangles (and not squares) 

are there in the following figure ? 

 

 

 

 

 

àíZ H«$. 64 : darb AmH¥$VrV {H$Vr Am¶V (Am{U Mm¡ag ZmhrV) 
AmhoV? 

1) 36 2) 54 3) 68 4) 70 

Question No. 65 : There are two identical red, two 

identical black and two identical white balls. In how many 

ways can these balls be placed in the following cells 

containing one ball in each cell and the balls of the same 

colur do not occupy any two consecutive cells ? 

 

 

àíZ H«$. 65 : XmoZ g‘mZ bmb M|Sy>, XmoZ g‘mZ H$mio M|Sy> d XmoZ 
g‘mZ nm§T>ao M|Sy> AmhoV. darb àË¶oH$ H$mo{fHo$‘Ü¶o EH$ M|Sy> d 
H$moUË¶mhr XmoZ gbJ H$mo{fHo$V g‘mZ a§JmMo M|Sy> AgUma ZmhrV Aem 
{H$Vr àH$mao M|Sy> R>odVm ¶oB©b ?  

1) 24  2) 18 3) 30 4) 15  

Question No. 66 : A, B, C, D and E are seated around a 

table equidistant from adjacent chair in such a way that C is 

seated next to A, where as B is not seated next to A. A is 

seated two seats from D. Then which of the following is 

definitely true ? 

P : E is seated next to A. 

Q : D is seated next to B. 

1) Only P  2) Only Q 

3) Both P and Q 4) Neither P nor Q 

àíZ H«$. 66 : A, B, C, D Am{U E ho Jmob Q>o~bm^modVr bJVÀ¶m 
IwÀ¶mªV g‘mZ A§Vamda Ago ~gbo AmhoV H$s C hm A À¶m bJV 
~gbm Amho Va B hm A À¶m bJV ~gbobm Zmhr. A hm D nmgyZ 
Xþgam ~gbobm Amho Va Imbrbn¡H$s H$moUVo {ZpíMVnUo ~amo~a Amho ?  
P : E hm A À¶m bJV Agbobm Amho. 
Q : D hm B À¶m bJV Agbobm Amho. 

1) ’$³V P  2)  ’$³V Q 

3) P Am{U  Q XmoÝhr 4) Zm P Zm Q 

Question No. 67 : Suresh and Mahesh together can 

complete work in 5 days. If Suresh works at twice his speed 

and Mahesh works at half of his speed, then this work can 

be finished in 4 days. How many days would Suresh alone 

take to complete the work with his normal speed ?  

àíZ H«$. 67 : gwaoe Am{U ‘hoe EH${ÌVnUo EH$ H$m‘ 5 {XdgmV nyU© 
H$aVmV. Oa gwaoeZo Ë¶mÀ¶m XþßnQ> doJmZo H$m‘ Ho$bo d ‘hoeZo Ë¶mÀ¶m 
{Zåå¶m doJmZo H$m‘ Ho$bo Va ho H$m‘ 4 {XdgmV nyU© hmoD$ eH$Vo. Va 
gwaoebm EH$Q>çmbm Ë¶mÀ¶m Zoh‘rÀ¶m doJmZo VoM H$m‘ nyU© H$aÊ¶mg 
{H$Vr {Xdg bmJVrb ?  

1) 12 2) 10  3)  18 4) 15 

Question No. 68 : P, Q, R, S and T reside in a ground +4 

storeyed building and each of them resides on a separate 

floor. Further, 

I)  T does not reside on the top most floor. 

II) Q does not reside on the ground floor. 

III) S resides on one storey above P and one storey below 

   R. 

To know as to which person reside on the ground floor 

which of the above statements are sufficient / insufficient ? 

1) I, II and III are insufficient. 

2) I and II are sufficient. 

3) II and III are sufficient  

4) I, II and III are sufficient. 

àíZ H«$. 68 : P, Q, R, S Am{U T EH$m Vi‘Obm +4 ‘Obr 
B‘maVrV ahmVmV Am{U àË¶oH$ OU doJù¶m ‘Oë¶mda ahmVmV. VgoM,  

I) T gdmªV daÀ¶m ‘Oë¶mda ahmV Zmhr. 

II) Q Vi‘Oë¶mda ahmV Zmhr. 

III) S hm P À¶m daÀ¶m ‘Oë¶mda Am{U R À¶m ImbÀ¶m ‘Oë¶mda 
amhVmo. 

Vi‘Oë¶mda H$moU amhVmo ho g‘OÊ¶mgmR>r darbn¡H$s H$moUVr {dYmZo 
nwaoer/Anwar AmhoV ? 

1) I, II, III Anwar AmhoV. 

2) I Am{U II nwaoer AmhoV. 

3) II Am{U III nwaoer AmhoV. 

4) I, II Am{U III nwaoer AmhoV.  

Question No. 69 and 70 : In each of the following 

questions, one term in the number series is wrong. Find the 

wrong term. 

àíZ H«$. 69 Am{U 70 : Imbrb àË¶oH$ àýmV, g§»¶m‘m{bHo$Vrb 
EH$ nX MwH$sMo Amho. Vo MwH$sMo nX emoYm.  

69 :  93, 309, 434, 498, 521, 533 

1) 533 2) 434 3) 309 4) 521 

70 :  0,2, 3, 5, 8, 10, 15, 18, 24, 26, 35  

1) 24 2) 35 3) 18 4) 10 

Question Nos. 71 : In a certain code language SOLID is 

coded as WOSKPHMEHZ. What does the code 

ASEWXPIAVN refer to ?  

àíZ H«$. 71 : EH$m gm§Ho${VH$ ^mfoV SOLID  Mm g§Ho$V 
WOSKPHMEHZ Agm Amho. ASEWXPIAVN hm g§Ho$V H$moUË¶m 
eãXmMm Amho ? 

1) WATER 2) EAGER 3) WAGER 4) WAFER 

Question No. 72 : Read the following information and 

answer the question. 

A is father of C, but C is not his son. B is the brother 

of C and D is son of B. F is the spouse of A and G is 

spouse of B. Who is the grandmother of D ? 

àíZ H«$. 72 : Imbr {Xbobr ‘m{hVr dmMm Am{U nýmMo CÎma Úm. 

A ho C Mo d{S>b AmhoV nU C H$mhr A Mm ‘wbJm Zmhr.  B hm C Mm 
^mD$ Amho Am{U D hm B Mm ‘wbJm Amho.  F, A Mr ghMm[aUr Amho 
Va G hr B Mr ghMm[aUr Amho. Va D Mr AmOr H$moU ? 

1) C 2) G 3) A 4) F 
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Questions 73 : Three persons A, B and C wore shirts of 

red, white and buff colours (not necessarily in that order) 

and pants of green, buff and brown colours (not necessarily 

in that order.) No person wore pant and shirt of the same 

colour. Futher it is given that. 

1) A did not wear shirt of white colour 

2) B did not wear shirt of red colour 

3) C did not wear shirt of buff colour 

4) A did not wear pant of green colour 

5) B wore pant of buff colour 

What were the colours of pant and shirt worn by C 

respectively ? 

 1) Brown and white 2) Green and red 

 3) Brown and red 4) Green and white 

àíZ H«$. 73 : A, B, Am{U C ¶m ì¶p³V¨Zr bmb, nm§T>am Am[U ~Xm‘r 
a§JmMo (Ë¶mM H«$‘mZo Amdí¶H$ Zmhr) eQ>© Am{U {hadr, ~Xm‘r Am{U 
Vn{H$ar a§JmMr (Ë¶mM H«$‘mZo Amdí¶H$ Zmhr) n±Q> KmVbr hmoVr. 
H$moUrhr EH$mM a§JmMm eQ>© Am{U n±Q> KmVbr ZìhVr. VgoM Agohr {Xbo 
Amho H$s  

1) A Zo nm§T>è¶m a§JmMm eQ>© KmVbm ZìhVm. 

2) B Zo bmb a§JmMm eQ>© KmVbm ZìhVm. 

3) C Zo ~Xm‘r a§JmMm eQ>© KmVbm ZìhVm. 

4) A Zo ~Xm‘r a§JmMr n±Q> KmVbr ZìhVr. 

5) B Zo ~Xm‘r a§JmMr n±Q> KmVbr hmoVr. 

C Zo AZwH«$‘o H$moUË¶m a§JmMr n±Q> Am{U eQ>© KmVbm hmoVm ?   

 1) Vn{H$ar Am{U nm§T>am 2) {hadr Am{U bmb 

 3) Vn{H$ar Am{U bmb 4) {hadr Am{U nm§T>am 

Questions 74: Rajesh, Rakesh and Ritesh are standing in a 

queue. There are 5 persons between Rajesh and Rakesh, 8 

persons between Rakesh and Ritesh. If there are three 

persons ahead of Ritesh and 21 persons are standing behind 

Rajesh, then what could be the minimum number of 

persons in the queue ? 

àíZ H«$. 74 : amOoe, amHo$e Am{U [aVoe EH$m am§JoV C ô AmhoV. 
amOoe Am{U amHo$e ¶m§À¶m‘Ü¶o 5 ì¶{³V AmhoV, amHo$e Am{U [aVoe 
¶m§À¶m‘Ü¶o 8 ì¶p³V AmhoV. Oa [aVoeÀ¶m nwT>o 3 ì¶{³V Am{U 
amOoeÀ¶m ‘mJo 21 ì¶{³V Cä¶m AgVrb, Va H$‘rVH$‘r {H$Vr ì¶{³V 
am§JoV AgVrb ? 

 1) 40 2) 35 3) 28 4) 26 

Questions 75 to 77 : There is some relation between first 

two terms. The same relation exists between the last two 

terms. Which term amongst the alternatives will appear at 

the question mark ? 

àíZ H«$. 75 Vo 77 : n{hë¶m XmoZ nXm§‘Ü¶o Omo g§~§Y Amho VgmM 
g§~§Y eodQ>À¶m XmoZ nXm§‘Ü¶o Amho. àíZ{MÝhmÀ¶m OmJr ¶oUmao ¶mo½¶ nX 
n¶m©¶mVyZ {ZdS>m. 
75 : Overlook : Treachery  : :  ? : ? 

 1) Mitigate : Penitence 2) Often : Rarely 

 3) Punish : Criminal 4) Ignore : Betrayal 

75 :  Xþb©j … XJm~mOr … … ? : ? 

 1) e‘{dUo … níMmÎmmn        2) dma§dma … {daim 

 3) N>iUo … JwÝhoJma            4) H$mUmS>moim H$aUo … {dídmgKmV 

76 :  20 : 11  : :  102 : ? 

 1) 98 2) 52 3) 61 4) 49 

77 :  XWV : UTS  : :  LKJ : ? 

 1) IHG 2) GHI 3) STU 4) MNO 

Question 78 : Vikas decided to donate 12% of his salary. 

But he donated ` 2240/- which was 
3

2
of what he had 

decided to donate. How much was the salary of Vikas ? 
àíZ H«$. 78 : {dH$mgZo Ë¶mÀ¶m nJmamÀ¶m 12% XoUJr XoÊ¶mMo 
R>a{dbo. nU Ë¶mZo 2240 ê$. XoUJr {Xbr Or Ë¶mZo R>a{dboë¶m 

XoUJrÀ¶m 
3

2
hmoVr. Va {dH$mgMm nJma {H$Vr hmoVm ?   

 1) 25000/- 2) 24600/- 3) 28000/- 4) 25650 /- 

Question 79 : Which two signs should be interchanged to 

make the given expression correct ? 

àíZ H«$. 79 : H$moUË¶m XmoZ {MÝhm§Mr AXbm~Xb H$amdr Á¶m‘wio 
{Xbobr nXmdbr ¶mo½¶ hmoB©b ? 

5 + 5  5 – 5  5 = 5 
 1) – and / Am{U   

 2) + and / Am{U   

 3) + and / Am{U   

 4) both 1 and 3 / 1 Am{U 3 XmoÝht 

Question 80 : One side of a rectangle is (3x + 7) cm and 

the other side is (2x – 5) cm. If the perimeter of the 

reactangle is 64 cm then what is the area of that rectangle in 

sq.cm ? 

àíZ H«$. 80 : EH$m Am¶VmMr EH$ ~mOy (3x + 7) g|.‘r Amho Va Xþgar 
~mOy (2x – 5) g|.‘r Amho. Oa Ë¶m Am¶VmMr n[a{‘Vr 64 g|.‘r Agob 
Va Ë¶m Am¶VmMo joÌ’$i {H$Vr Mm¡.g§o.‘r Agob ? 

 1) 180 2) 175 3) 200 4) 150 

Question 81 : How many minimum square tiles are 

required to pave the floor of room having size 13 m 44 cm 

long and 11 m and 34 cm broad ? 

àíZ H«$. 81 : 13 ‘r 44 g|.‘r bm§~ Am{U 11 ‘r 34 g|.‘r é§X 
AmH$mamÀ¶m Imobrbm ’$ag~§Xr H$aÊ¶mgmR>r H$‘rV H$‘r {H$Vr Mm¡ag 
’$aem bmJVrb ? 

 1) 44 2) 41 3) 42 4) 84 

Question 82 : A cricket team scored average 5.3 runs for 

the first thirty overs. If 243 runs are required to win the 

match then how many average runs required to be made in 

the remaining 20 overs to win the match ?  

àíZ H«$. 82 : EH$m {H«$Ho$Q> g§KmZo n{hë¶m 30 fQ>H$m§‘Ü¶o gamgar 5.3 

Ymdm H$mT>ë¶m. Oa gm‘Zm {O§H$Ê¶mgmR>r 243 Ymdm§Mr JaO Agob Va 
Caboë¶m 20 fQ>H$m§‘Ü¶o Ymdm§Mm gamgar doJ {H$Vr Agë¶mg gm‘Zm 
{O§H$Vm ¶oB©b ?  

 1) 4.2 2) 12.15 3) 4.8 4) 5.2 

Question 83 : In the given figure  

How much is a + b + c + d + e + f + g ?  
àíZ H«$. 83 : {Xboë¶m AmH¥$VrV  

a + b + c + d + e + f + g {H$Vr Agob ? 

 

 

 

 

 1) 440 2) 580 3) 720 4) 540 

b 

e 

a 

c 

d f 

g 
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Question 84 : If (x – 6) is the HCF of x
2 
– 2x – 24 and   

x
2
 – Kx – 6, then what is the value of K ? 

àíZ H«$. 84 : Oa x2 
– 2x – 24 Am{U x2

 – Kx – 6 ¶m§Mm ‘gm{d  

(x – 6) Agob, Va K Mr qH$‘V H$m¶ Agob ?  

 1) – 5 2) 5 3) 3 4) – 4 

 

Directions for following 6 questions : Given below are six 

questions describing a situation and is followed by four 

possible responses. Indicate the response you find the most 

appropriate. Choose only one response for each question. 

The responses will be evaluated based on the level of 

appropriateness for the given situation. 

 

  Please attempt all the questions. There is no penalty 

for wrong answers for these six questions. 

 
nwT>rb ghm àíZm§gmR>r gyMZm : Imbr ghm àíZ {Xbo AmhoV Á`mV 
àË`oH$s EH$ KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m 
AmhoV. Vw_À`m Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ 
àíZmH$arVm EH$M n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>ZoÀ¶m 
g§X^m©V Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m ghm àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
 

Question no. 85 : The agitation which is going on in the 

state due to the issue of caste based reservation. It 

(agitation) has become a serious problem. There is an 

atmosphere of terror in the state. In this situation; as the 

Head of the State Backward Class Commission, what a 

prompt decision will you take after taking that community 

in confidence ? 

1) Will consitute a committee of experts  and 

suggest them to prepare a report based on the 

constitution. 

2) Remain in touch with the Chief Minister and the 

seniors. 

3) Take them in confidence and convince them that 

reservation cannot be given more than 50%. 

4) After considering the social and economical 

criteria will think over whether reservation can 

be given. 

àíZ H«$. 85  : OmVr¶ AmajUmÀ¶m ‘wÚmdê$Z Mmby Agboë¶m 
Am§XmobZmbm Vrd« ñdê$n ¶oD$Z amÁ¶^amV XheVrMo dmVmdaU {Z‘m©U 
Pmbo Amho Aemdoir amÁ¶ ‘mJmgdJ© Am¶moJmMo à‘wI åhUyZ Ë¶m OmVr¶ 
g‘whmg {dídmgmV KoD$Z amÁ¶mV em§VVm àñWm{nV H$aÊ¶mgmR>r 
H$moUVm {ZU©¶ VmVS>rZo ¿¶mb?  

 1) VÁk A{YH$mè¶m§Mr g{‘Vr Zo‘yZ amÁ¶KQ>ZoMm AmYma KoD$Z 
  Ahdmb ~ZdÊ¶mg gm§Jmb. 

 2) ‘w»¶‘§Ìr d d[að>m§er g§nH$m©V ahmb. 

 3) 50% nojm OmñV AmajU XoVm ¶oV Zmhr ho Ë¶m§Zm  
  {dídmgmV KoD$Z gm§Jmb. 

 4) gm‘m{OH$ d Am{W©H$ {ZH$fm§Mm {dMma H$ê$Z AmajU XoVm 
  ¶oB©b H$m ¶m~m~V {dMma H$amb. 
 

Question no. 86 : It is planned to construct a monument of 

a historical eminent person in the sea. But the spot is a 

major place for fishing. The construction of the monument 

may cause obsruction for fishing. In this situation as an 

Incharge of the cultural department, what will you do? 

 1)  Appoint a committee of experts to think over the 

  alternative place for the monument and ask for 

  its report. 

 2)  Drive away the fisherman to other place. 

 3)  Narrate the greatness of the historical eminent 

  person to the fishermen and request them to 

  migrate. 

 4) Make available to them other opportunities of 

  business.    
àíZ H«$. 86  : g‘wÐm‘Ü¶o EH$m Eo{Vhm{gH$ ‘hmnwéfmMo dmñVw-{eën 
~m§YÊ¶mMo {Z¶mo{OV Ho$bo Amho. na§Vw Vo {R>H$mU ‘mgo‘marMo à‘wI joÌ 
Amho. {eënmÀ¶m {Z{‘©Vr‘wio ‘mgo‘marMm ì¶dgm¶ Ë¶m{R>H$mUr ~§X 
hmoÊ¶mMm YmoH$m Amho. Aem n[apñWVrV gm§ñH¥${VH$ {d^mJmMo A{YH$mar 
åhUyZ Vwåhr H$m¶ H$amb?  

 1) dmñVy{eënmÀ¶m n¶m©¶r OmJog§X^m©V VÁk g{‘VrMr Zo‘UyH$ 
H$ê$Z Ahdmb ‘mJdmb. 

 2) ‘mgo‘mar H$aUmè¶m bmoH$m§Zm AÝ¶ {R>H$mUr nmR>dmb. 

 3) ‘mgo‘mar H$aUmè¶m bmoH$m§Zm Eo{Vhm{gH$ ‘hmnwéfmMo ‘hËd 
gm§JyZ Ë¶m§Zm AÝ¶ {R>H$mUr ñWbm§V[aV hmoÊ¶mMr {dZ§Vr H$amb. 

 4) Ë¶m§Zm AÝ¶ ì¶dgm¶m§Mr g§Yr CnbãY H$ê$Z Úmb. 

Question no. 87 : You are an Executive Engineer in Metro 

Project. You came to know that the quality of products used 

in a construction was not up to the mark. When you 

informed about it to the project manager, he tried to bribe 

and threten you. What will you do ? 

 1) Report about it to senior officer. 

 2) Give a written letter to the higher authority for 

     investigation and further action. 

 3) Complain about the matter to the police. 

 4) You will accept the bribe and keep quiet. 

àíZ H«$. 87 : Vwåhr ‘oQ´>moÀ¶m àH$ënmV H$m¶©H$mar A{^¶§Vm ¶m nXmda 
H$m¶©aV AmhmV. Vw‘À¶m {ZXe©Zmg ¶oVo H$s H$m‘mgmR>r dmnaÊ¶mV ¶oUmao 
gm{hË¶ {ZH¥$ï> XOm©Mo Amho. Vwåhr ¶m~m~V àH$ën ì¶dñWmnH$mg 
{dMmaUm Ho$br AgVm Vmo Vwåhmbm bmM ñdrH$maÊ¶mg gm§JyZ Y‘H$s XoV 
Amho. Vwåhr H$m¶ H$amb?    

 1) ¶m~m~V d[að> A{YH$mè¶mH$S>o VH«$ma H$amb. 

 2) ¶m KQ>ZoMm gImob Vnmg d H$m¶©dmhrgmR>r d[að>m§H$S>o       
     ¶m~m~V boIr VH«$ma H$amb. 

 3) nmo{bgm§H$S>o VH«$ma H$amb. 

 4) Vwåhr bmM pñdH$mamb Am{U Jßn ~gmb. 

Question no. 88 : You are a Deputy Superintendent of 

Police. One common man gives you a telephonic 

information that one reknowned social activist is killed by 

two youth on the road. What would you do? 

 1) Inform to higher authority. 

 2) Order to the nearest police station to take a  

  charge of that spot. 

 3) Spread the message to all the police station on 

  wireless for the check post. 

 4) Wait for the authentic information.    
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àíZ H«$. 88 : Vwåhr nmo{bg CnAYrjH$ AmhoV. EH$m gm‘m{OH$ 
H$m¶©H$Ë¶m©Mr XmoZ VéUm§Zr hË¶m Ho$ë¶mMr ‘m{hVr EH$ ì¶³Vr Vwåhmbm 
’$moZdê$Z XoVmo. Aemdoir Vwåhr H$m¶ H$amb?   
 1) d[að>m§Zm ¶m~m~V ‘m{hVr Úmb. 
 2) OdiÀ¶m nmo{bg ñQ>oeZbm KQ>ZmñWimMm Vm~m KoÊ¶mMm 

AmXoe Úmb. 
 3) dm¶abogdê$Z gd© nmo{bg ñQ>oeZbm ZmH$m~§XrMm AmXoe 

Úmb. 
 4) AMyH$ ‘m{hVrMr dmQ> ~Kmb. 
Question no. 89 : Two of your subordinates are 

intellectually superior and have an efficiency to solve any 

kind of problem of office but both the subordinates always 

quarrel with each other. You will ..... 

 1)  find out the cause behind their unhealthy  

  relationship. 

 2) transfer one subordinate to another unit.  

 3) give the memo to both the subordinates. 

 4) handle them with the help of counsellor.    
àíZ H«$. 89 : Vw‘Mo XmoZ H${Zð> A{YH$mar Hw$emJ« ~wÕr‘ËVoMo AmhoV. 
Am°{’$gÀ¶m Hw$R>ë¶mhr g‘ñ¶oMo {ZamH$aU H$aÊ¶mgmR>r Vo H$m¶©j‘ 
AmhoV na§Vw XmoKo gVV AmngmV ^m§S>V AgVmV. Aemdoir Vwåhr H$m¶ 
H$amb ?  
 1) Ë¶m§À¶m H$‘Omoa ZmVog§~§Ym‘mJMr H$maUo emoYmb.  
 2) EH$m H${Zð> A{YH$mè¶mMr Xþgè¶m {d^mJmH$S>o ~Xbr H$amb. 
 3) XmoKm§Zmhr H$maUo XmIdm ZmoQ>rg Úmb. 
 4) g‘wnXoeH$mMr ‘XV KoD$Z XmoKm§‘Yrb Xþamdm H$‘r H$amb.  
Question no. 90 : You are the owner of Pvt. Ltd. company. 

You found that lethargic behaviour of workers negatively 

affect the commitments of customers. You will ...... 

 1) decrese the salary of workers. 

 2) give them suspension order. 

 3) appoint the new trained workers. 

 4) give them a skill based training.   
àíZ H«$. 90 : Vwåhr EH$m ImOJr H§$nZrMo ‘mbH$ AmhmV. Vw‘À¶m Ago 
{ZXe©Zmg ¶oVo H$s H$‘©Mmè¶m§À¶m hbJOu dV©ZmMm ZH$mamË‘H$ n[aUm‘ 
J«mhH$m§er Ho$boë¶m dMZnyVuda hmoV Amho. Vwåhr H$m¶ H$amb?  
 1) Ë¶m§Mo doVZmV H$nmV H$amb. 
 2) Ë¶m§Zm {Zb§{~V H$amb. 
 3) ZdrZ Hw$eb H$m‘Jmam§Mr {Z¶w³Vr H$amb. 
 4) Ë¶m§Zm H$m¡eë¶m{Y{ð>V à{ejU Úmb.  
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : XmoZ Vmg                                                                                 A{YH$V_ JwU : 200 

gyMZm 

1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo 
AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U XmoZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 85 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma n`m©̀  {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo 
Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` 
n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b. H$moUË¶mhr n[apñWVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm 
¶oUma ZmhrV  

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n ©̀dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 

KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 85 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  
     OmB©b. àíZ H«$_m§H$ 85 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
10. ¶m àíZg§MmVrb ^mJ-2 ‘Ü¶o H$‘rV H$‘r 33 JwU {‘imë¶mgM ^mJ-1 Vnmgbm OmB©b Am{U A§{V‘ {ZdS> ¶mXr ^mJ-1 ‘Ü¶o {‘imboë¶m 

JwUm§ZwgmaM V¶ma Ho$br OmB©b ¶mMr Zm|X ¿¶mdr.    

11. `m narjoMm {ZH$mb {X. 28.12.2018 amoOr qH$dm Ë¶mZ§Va Am_À`m www.yashada.org/acec `m do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.

 
 


